

### **Paperchase Office National**

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

# **BTS QUOTE**

Number 931826 Date 20/08/2021

Your Reference PREP BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

Deliver To PREP BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST

SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
4010239	SCHOOL SCISSORS BLUE HANDLE 6 INCH	1	EACH	\$0.90	\$0.90	\$0.09
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	2	PK 12	\$4.85	\$9.70	\$0.97
7049118	FABER CASTELL TRIANGULAR GRIP BLACKLEAD PENCILS 2B	8	EACH	\$0.39	\$3.12	\$0.31
7000485	FABER CASTELL GRIP JUNIOR COLOURED PENCILS WITH SHARPENER PACK 10	2	PACK 1	\$3.85	\$7.70	\$0.77
7010219	STAEDTLER NORIS CLUB TWISTER CRAYONS 6MM PACK 12	2	PACK 1	\$3.90	\$7.80	\$0.78
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
7101542	FABER-CASTELL GRIP 2001 3-IN-1 SHARPENER SILVER	1	EACH	\$4.80	\$4.80	\$0.48
4054110	DISPLAY BOOK A3 20P INSERT FRONT COVER BLACK	1	EACH	\$4.90	\$4.90	\$0.49
4000703	PICTOR PREMIUM PRO A4 48 PAGE PP EXERCISE BOOK 24MM DOTTED THIRDS 70GSM ROCKET	1	EACH	\$0.99	\$0.99	\$0.10
4000192	PICTOR MINI SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 165 x 240MM	1	EACH	\$0.80	\$0.80	\$0.08
4010111	KLUWELL HOME READING JUNIOR LEVEL YELLOW LEVEL	1	EACH	\$3.99	\$3.99	\$0.40
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	6	EACH	\$1.10	\$6.60	\$0.66
7048560	EXPO SHARPIE WHITEBOARD MARKER BULLET TIP 2.0MM WALLET 4	1	PACK 1	\$4.95	\$4.95	\$0.50
4000536	PICTOR PREMIUM 330 X 240MM 64 PAGE MEGA STORY BOOK 24MM PLAIN/DOTTED THIRDS 24MM 100GSM PINK MOON	1	EACH	\$1.25	\$1.25	\$0.13
4000413	PICTOR PREMIUM 330 X 240 64 PAGE STORY BOOK 24MM PLAIN/RULED 100GSM EXPLORERS	1	EACH	\$1.25	\$1.25	\$0.13
7101703	MOKI LIFE DROPS HEADPHONES BLACK	1	EACH	\$11.00	\$11.00	\$1.10
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
7012130	HYSTIK 8801 GENERAL PURPOSE MASKING TAPE 18MM X 50M	1	EACH	\$1.65	\$1.65	\$0.17
7071246	INITIATIVE OFFICE TAPE 19MM X 33M CLEAR	1	EACH	\$0.55	\$0.55	\$0.06
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	Total Excluding GST	\$85.91
	GST	\$8.62
	Total	\$94.53



### Paperchase Office National

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

## **BTS QUOTE**

Number 931827 Date 20/08/2021

Your Reference YEAR 1 BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

**Deliver To** 

YEAR 1 BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
7000200	MAPED SHAKER SHARPENER 2 HOLE	1	EACH	\$0.60	\$0.60	\$0.06
4010239	SCHOOL SCISSORS BLUE HANDLE 6 INCH	1	EACH	\$0.90	\$0.90	\$0.09
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	2	PK 12	\$4.85	\$9.70	\$0.97
7049118	FABER CASTELL TRIANGULAR GRIP BLACKLEAD PENCILS 2B	12	EACH	\$0.39	\$4.68	\$0.47
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
4028630	DOCUMENT WALLET A4 BUTTON CLEAR	2	EACH	\$0.50	\$1.00	\$0.10
4000284	PICTOR PREMIUM A4 48 PAGE EXERCISE BOOK 24MM DOTTED THIRDS 70GSM ROCKET	1	EACH	\$0.60	\$0.60	\$0.06
4000086	PICTOR PREMIUM EXERCISE BOOK DOTTED THIRDS 18MM 70GSM 64 PAGE A4 PLUTO	4	EACH	\$0.75	\$3.00	\$0.30
4010111	KLUWELL HOME READING JUNIOR LEVEL YELLOW LEVEL	1	EACH	\$3.99	\$3.99	\$0.40
4010156	9781741250886 TARGETING HANDWRITING BOOK ONE	1	EACH	\$13.25	\$13.25	\$1.33
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	5	EACH	\$1.10	\$5.50	\$0.55
7009103	BELGRAVE JUMBO TRIANGULAR PENCILS 5MM PACK 12	2	PACK 1	\$4.95	\$9.90	\$0.99
7048560	EXPO SHARPIE WHITEBOARD MARKER BULLET TIP 2.0MM WALLET 4	1	PACK 1	\$4.95	\$4.95	\$0.50
4052620	STAEDTLER 526 C20 SCHOOL ERASER LARGE	4	EACH	\$0.20	\$0.80	\$0.08
7071685	INITIATIVE HIGHLIGHTER CHISEL ASSORTED WALLET 4	1	PACK 1	\$2.35	\$2.35	\$0.24
7073683	QUARTET 2 SIDED LAP BOARD BLANK A4 WHITEBOARD	1	EACH	\$4.65	\$4.65	\$0.47
7073446	CRAYOLA CHALKBOARD/WHITEBOARD DUSTER	1	EACH	\$2.50	\$2.50	\$0.25
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	<b>Total Excluding GST</b>	\$82.33
	GST	\$8.26
	Total	\$90.59



### **Paperchase Office National**

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

# **BTS QUOTE**

Number 931829 Date 20/08/2021

Your Reference YEAR 2 BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

Deliver To YEAR 2 BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST

SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
7000200	MAPED SHAKER SHARPENER 2 HOLE	1	EACH	\$0.60	\$0.60	\$0.06
4010239	SCHOOL SCISSORS BLUE HANDLE 6 INCH	1	EACH	\$0.90	\$0.90	\$0.09
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	2	PK 12	\$4.85	\$9.70	\$0.97
7049118	FABER CASTELL TRIANGULAR GRIP BLACKLEAD PENCILS 2B	12	EACH	\$0.39	\$4.68	\$0.47
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
4028630	DOCUMENT WALLET A4 BUTTON CLEAR	2	EACH	\$0.50	\$1.00	\$0.10
4000086	PICTOR PREMIUM EXERCISE BOOK DOTTED THIRDS 18MM 70GSM 64 PAGE A4 PLUTO	5	EACH	\$0.75	\$3.75	\$0.38
4010157	9781741250893 TARGETING HANDWRITING BOOK TWO	1	EACH	\$13.25	\$13.25	\$1.33
4010111	KLUWELL HOME READING JUNIOR LEVEL YELLOW LEVEL	1	EACH	\$3.99	\$3.99	\$0.40
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	3	EACH	\$1.10	\$3.30	\$0.33
7009103	BELGRAVE JUMBO TRIANGULAR PENCILS 5MM PACK 12	2	PACK 1	\$4.95	\$9.90	\$0.99
7048560	EXPO SHARPIE WHITEBOARD MARKER BULLET TIP 2.0MM WALLET 4	1	PACK 1	\$4.95	\$4.95	\$0.50
4052620	STAEDTLER 526 C20 SCHOOL ERASER LARGE	4	EACH	\$0.20	\$0.80	\$0.08
7071685	INITIATIVE HIGHLIGHTER CHISEL ASSORTED WALLET 4	1	PACK 1	\$2.35	\$2.35	\$0.24
4000154	PICTOR PREMIUM GRAPH BOOK 10MM 70GSM 48 PAGE A4 SUN	2	EACH	\$0.60	\$1.20	\$0.12
7073683	QUARTET 2 SIDED LAP BOARD BLANK A4 WHITEBOARD	1	EACH	\$4.65	\$4.65	\$0.47
7073446	CRAYOLA CHALKBOARD/WHITEBOARD DUSTER	1	EACH	\$2.50	\$2.50	\$0.25
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
7049367	RULER WOODEN 300MM POLISHED	1	EACH	\$0.35	\$0.35	\$0.04
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	Total Excluding GST	\$81.83
	GST	\$8.22
	Total	\$90.05



### **Paperchase Office National**

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

# **BTS QUOTE**

Number 931830 Date 20/08/2021

Your Reference YEAR 3 BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

**Deliver To** 

YEAR 3 BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
7000200	MAPED SHAKER SHARPENER 2 HOLE	1	EACH	\$0.60	\$0.60	\$0.06
4010239	SCHOOL SCISSORS BLUE HANDLE 6 INCH	1	EACH	\$0.90	\$0.90	\$0.09
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	1	PK 12	\$4.85	\$4.85	\$0.49
7013453	FABER-CASTELL RED CHECKING PENCIL	2	EACH	\$0.25	\$0.50	\$0.05
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
4830007	OSMER COLOUR PENCILS PKT 12	1	PK 12	\$1.35	\$1.35	\$0.14
7011592	MARBIG REFILLABLE DISPLAY BOOK A4 20 POCKET BLUE CLEAR FRONT	1	EACH	\$1.00	\$1.00	\$0.10
4000093	PICTOR PREMIUM EXERCISE BOOK DOTTED THIRDS 14MM 70GSM 96 PAGE A4 GALAXY	7	EACH	\$0.95	\$6.65	\$0.67
7073446	CRAYOLA CHALKBOARD/WHITEBOARD DUSTER	1	EACH	\$2.50	\$2.50	\$0.25
7003567	COLLINS 2022 COLPLAN STUDENT DIARY WEEK TO VIEW PERFECT BOUND A5	1	EACH	\$1.65	\$1.65	\$0.17
4000321	PICTOR PREMIUM A4 64 PAGE EXERCISE BOOK 14MM RULED 70GSM TAURUS	1	EACH	\$0.65	\$0.65	\$0.07
7049367	RULER WOODEN 300MM POLISHED	1	EACH	\$0.35	\$0.35	\$0.04
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	2	EACH	\$1.10	\$2.20	\$0.22
4000154	PICTOR PREMIUM GRAPH BOOK 10MM 70GSM 48 PAGE A4 SUN	2	EACH	\$0.60	\$1.20	\$0.12
4013052	STAEDTLER FSC HEXAGONAL PENCIL HB	10	EACH	\$0.20	\$2.00	\$0.20
7002726	COLORIFIC DOUBLE SIDED WHITEBOARD 400 X 300MM	1	EACH	\$5.95	\$5.95	\$0.60
4052620	STAEDTLER 526 C20 SCHOOL ERASER LARGE	1	EACH	\$0.20	\$0.20	\$0.02
7001305	STABILO BOSS HIGHLIGHTER YELLOW	1	EACH	\$1.40	\$1.40	\$0.14
7002613	ARTLINE 500A WHITEBOARD MARKER 2MM BULLET BLACK	2	EACH	\$2.85	\$5.70	\$0.57
4010111	KLUWELL HOME READING JUNIOR LEVEL YELLOW LEVEL	1	EACH	\$3.99	\$3.99	\$0.40
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
7006591	STABILO BOSS HIGHLIGHTER CHISEL GREEN	1	EACH	\$1.40	\$1.40	\$0.14
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	Total Excluding GST	\$59.00
	GST	\$5.94
	Total	\$64.94



### **Paperchase Office National**

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

# **BTS QUOTE**

Number 931831 Date 931831

Your Reference YEAR 4 BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

**Deliver To** 

YEAR 4 BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
7000200	MAPED SHAKER SHARPENER 2 HOLE	1	EACH	\$0.60	\$0.60	\$0.06
4010239	SCHOOL SCISSORS BLUE HANDLE 6 INCH	1	EACH	\$0.90	\$0.90	\$0.09
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	1	PK 12	\$4.85	\$4.85	\$0.49
7013453	FABER-CASTELL RED CHECKING PENCIL	2	EACH	\$0.25	\$0.50	\$0.05
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
4830007	OSMER COLOUR PENCILS PKT 12	1	PK 12	\$1.35	\$1.35	\$0.14
7011592	MARBIG REFILLABLE DISPLAY BOOK A4 20 POCKET BLUE CLEAR FRONT	1	EACH	\$1.00	\$1.00	\$0.10
4000093	PICTOR PREMIUM EXERCISE BOOK DOTTED THIRDS 14MM 70GSM 96 PAGE A4 GALAXY	7	EACH	\$0.95	\$6.65	\$0.67
7073446	CRAYOLA CHALKBOARD/WHITEBOARD DUSTER	1	EACH	\$2.50	\$2.50	\$0.25
7049367	RULER WOODEN 300MM POLISHED	1	EACH	\$0.40	\$0.40	\$0.04
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	2	EACH	\$1.10	\$2.20	\$0.22
4000154	PICTOR PREMIUM GRAPH BOOK 10MM 70GSM 48 PAGE A4 SUN	1	EACH	\$0.60	\$0.60	\$0.06
4013052	STAEDTLER FSC HEXAGONAL PENCIL HB	10	EACH	\$0.20	\$2.00	\$0.20
4052620	STAEDTLER 526 C20 SCHOOL ERASER LARGE	3	EACH	\$0.20	\$0.60	\$0.06
7001305	STABILO BOSS HIGHLIGHTER YELLOW	1	EACH	\$1.40	\$1.40	\$0.14
7002613	ARTLINE 500A WHITEBOARD MARKER 2MM BULLET BLACK	2	EACH	\$2.85	\$5.70	\$0.57
4010111	KLUWELL HOME READING JUNIOR LEVEL YELLOW LEVEL	1	EACH	\$3.99	\$3.99	\$0.40
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
7006591	STABILO BOSS HIGHLIGHTER CHISEL GREEN	1	EACH	\$1.40	\$1.40	\$0.14
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	Total Excluding GST	\$50.60
	GST	\$5.08
	Total	\$55.68



### **Paperchase Office National**

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

# **BTS QUOTE**

Number 931832 Date 20/08/2021

Your Reference YEAR 5 BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

Deliver To

YEAR 5 BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
7004446	CANON LC-210L POCKET CALCULATOR HARD COVER 8 DIGIT WHITE	1	EACH	\$6.00	\$6.00	\$0.60
7000200	MAPED SHAKER SHARPENER 2 HOLE	1	EACH	\$0.60	\$0.60	\$0.06
7023890	OSMER SCISSORS BLACK HANDLE 210MM	1	EACH	\$1.50	\$1.50	\$0.15
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	1	PK 12	\$4.85	\$4.85	\$0.49
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
4830007	COLOUR PENCILS PKT 12	2	PK 12	\$1.30	\$2.60	\$0.26
7013564	MARBIG DISPLAY BOOK REFILLABLE 20 POCKET A4 GREEN	1	EACH	\$1.00	\$1.00	\$0.10
4010197	OFFICE PADS A5 PLAIN BOND JOTTERS 100LF	2	EACH	\$0.90	\$1.80	\$0.18
4000062	PICTOR PREMIUM EXERCISE BOOK DOTTED THIRDS 9MM 70GSM 64 PAGE A4 URANUS	10	EACH	\$0.75	\$7.50	\$0.75
7006765	MARBIG RULER PLASTIC 300MM CLEAR	2	EACH	\$0.35	\$0.70	\$0.07
4000154	PICTOR PREMIUM GRAPH BOOK 10MM 70GSM 48 PAGE A4 SUN	3	EACH	\$0.60	\$1.80	\$0.18
4013052	STAEDTLER FSC HEXAGONAL PENCIL HB	16	EACH	\$0.20	\$3.20	\$0.32
7007741	OFFICE NATIONAL PREMIUM NOTES 75 X 75MM YELLOW	3	EACH	\$0.50	\$1.50	\$0.15
4052620	STAEDTLER 526 C20 SCHOOL ERASER LARGE	2	EACH	\$0.20	\$0.40	\$0.04
7021630	STAEDTLER STICK 430 BALLPOINT PEN MEDIUM RED	2	EACH	\$0.45	\$0.90	\$0.09
7012677	PAPERMATE FLEXGRIP ULTRA BALLPOINT PEN MEDIUM BLUE	3	EACH	\$1.45	\$4.35	\$0.44
7001305	STABILO BOSS HIGHLIGHTER YELLOW	2	EACH	\$1.44	\$2.88	\$0.29
7074480	ARTLINE SUPREME FINELINER PEN 0.4MM BLACK	2	EACH	\$1.40	\$2.80	\$0.28
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	2	EACH	\$1.10	\$2.20	\$0.22
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	Total Excluding GST	\$60.54
	GST	\$6.07
	Total	\$66.61



### **Paperchase Office National**

31 Dunmore Drive, TRUGANINA, VIC 3029 Ph: 1300 739 742 Fax: 1300 944 032

Email: sales@paperchase.com.au Web: www.paperchase.com.au

Bill To

SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

# **BTS QUOTE**

Number 931833 Date 931833

Your Reference YEAR 6 BOOK PACK ONLINE

Your Account PSOMER
Acct Manager Adrian Di Martino

**Deliver To** 

YEAR 6 BOOK PACK ONLINE SOMERVILLE PRIMARY SCHOOL ERAMOSA ROAD EAST SOMERVILLE, VIC 3912

Code	Product Description	Qty	Unit	Price Ex	Total Ex	Tax
7000200	MAPED SHAKER SHARPENER 2 HOLE	1	EACH	\$0.60	\$0.60	\$0.06
7023890	OSMER SCISSORS BLACK HANDLE 210MM	1	EACH	\$1.50	\$1.50	\$0.15
7075657	FABER CASTELL JUMBO PLAYSAFE MARKERS 12s	1	PK 12	\$4.85	\$4.85	\$0.49
7005772	BOSTIK GLU STIK 35GM	4	EACH	\$1.99	\$7.96	\$0.80
4830007	COLOUR PENCILS PKT 12	2	PK 12	\$1.35	\$2.70	\$0.27
7013564	MARBIG DISPLAY BOOK REFILLABLE 20 POCKET A4 GREEN	2	EACH	\$1.00	\$2.00	\$0.20
4010197	OFFICE PADS A5 PLAIN BOND JOTTERS 100LF	2	EACH	\$0.90	\$1.80	\$0.18
4000062	PICTOR PREMIUM EXERCISE BOOK DOTTED THIRDS 9MM 70GSM 64 PAGE A4 URANUS	10	EACH	\$0.75	\$7.50	\$0.75
7006765	MARBIG RULER PLASTIC 300MM CLEAR	2	EACH	\$0.35	\$0.70	\$0.07
4000154	PICTOR PREMIUM GRAPH BOOK 10MM 70GSM 48 PAGE A4 SUN	3	EACH	\$0.60	\$1.80	\$0.18
4013052	STAEDTLER FSC HEXAGONAL PENCIL HB	16	EACH	\$0.20	\$3.20	\$0.32
7007741	OFFICE NATIONAL PREMIUM NOTES 75 X 75MM YELLOW	3	EACH	\$0.50	\$1.50	\$0.15
4052620	STAEDTLER 526 C20 SCHOOL ERASER LARGE	2	EACH	\$0.20	\$0.40	\$0.04
7021630	STAEDTLER STICK 430 BALLPOINT PEN MEDIUM RED	2	EACH	\$0.45	\$0.90	\$0.09
7012677	PAPERMATE FLEXGRIP ULTRA BALLPOINT PEN MEDIUM BLUE	3	EACH	\$1.35	\$4.05	\$0.41
7001305	STABILO BOSS HIGHLIGHTER YELLOW	2	EACH	\$1.44	\$2.88	\$0.29
7074480	ARTLINE SUPREME FINELINER PEN 0.4MM BLACK	2	EACH	\$1.40	\$2.80	\$0.28
4000185	PICTOR MEGA SPACEBUDDIES SCRAPBOOK 100GSM 64 PAGE 330 X 240MM	1	EACH	\$1.10	\$1.10	\$0.11
4352027	CLEAR MESH POUCH A4 360 X 270MM	1	EACH	\$2.50	\$2.50	\$0.25
4000895	PICTOR VISUAL ART DIARY A4 PP 120 PAGE 110GSM BLACK	1	EACH	\$3.50	\$3.50	\$0.35
4010001	PACKAGING: BTS BAG	1	EACH	\$0.00	\$0.00	\$0.00

Notes	Total Excluding GST	\$54.24
	GST	\$5.44
	Total	\$59.68